C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a 1 with the value of 100 or 1 hundred?
A. 1582 B. 514 C. 3,718 D. 5,172

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 9,376 B. 25,349 C. 4,829 D. 28,931

Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 93,468 B. 12,893 C. 821,976 D. 183,745

Which choice has a2 with the value of 20 or 2 tens?
A. 258 B.72 C. 526 D. 92

Which choice has a4 with the value of 400 or 4 hundreds?
A. 149 B. 245 C. 2947 D. 419

Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 6,851 B. 75,682 C. 8,275 D. 2,893

Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 283,461 B. 68,941 C. 72,658 D. 12,679

Which choice has a5 with the value of 50 or 5 tens?
A. 125 B. 251 C.35 D. 569

Which choice has a4 with the value of 400 or 4 hundreds?
A. 7,854 B. 245 C. 9,487 D. 724

Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 98,235 B. 5,298 C. 93,482 D. 89,527

Which choice has a9 with the value of 90,000 or 9 ten thousands?
A. 69,452 B. 697,435 C. 69,721 D. 954,683

Which choice has a2 with the value of 20 or 2 tens?

Answers

10.
11.

12.

C
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A.32 B. 27 C. 256 D. 632
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Answer Key

Solve each problem.

1) Which choice has a1 with the value of 100 or 1 hundred?
A. 1,582 B. 514 C. 3,718 D. 5,172

2) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 9,376 B. 25,349 C. 4,829 D. 28,931

3) Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 93,468 B. 12,893 C. 821,976 D. 183,745

4) Which choice has a 2 with the value of 20 or 2 tens?
A. 258 B.72 C. 526 D. 92

5) Which choice has a 4 with the value of 400 or 4 hundreds?
A. 149 B. 245 C. 2947 D. 419

6) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 6,851 B. 75,682 C. 8,275 D. 2,893

7) 'Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 283,461 B. 68,941 C. 72,658 D. 12,679

8) Which choice has a5 with the value of 50 or 5 tens?
A. 125 B. 251 C.35 D. 569

9) Which choice has a 4 with the value of 400 or 4 hundreds?
A. 7,854 B. 245 C. 9,487 D. 724

10) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 98,235 B. 5,298 C. 93,482 D. 89,527

11) Which choice has a9 with the value of 90,000 or 9 ten thousands?
A. 69,452 B. 697,435 C. 69,721 D. 954,683

12) Which choice has a 2 with the value of 20 or 2 tens?
A. 32 B. 27 C. 256 D. 632

Answers
1. D
2. A
3 D
s C
5. D
6. C
7 B
s B
9. C
0. A
u_ B
1. B

75|67 [58[50( 4233|2517 |

1-10 | 92
[ M ath ] www.CommonCoreSheets.com 8 11-12| 8




